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QUESTION 1

Which setting should be used to exclude one hard disk from VM snapshots?
A. Thin Provision disk type

B. Dependent disk mode

C. Independent disk mode

D. Passthrough device mode

Correct Answer: C

QUESTION 2

Which configuration could prevent an administrator from performing a vSphere vMotion migration?
A. CPU affinity is enabled on the VM.

B. The ESXi hosts use IPv6 addresses.

C. The VM has an RDM in virtual compatibility mode.

D. 1GbE adapters are in use for the vMotion network.

Correct Answer: A

Reference: https://kb.vmware.com/s/article/1003842

QUESTION 3

What of RAM required by ESXi 6.7?
A. 512MB

B. 2GB

C. 4GB

D. 8GB

Correct Answer: C

QUESTION 4
Which two infrastructure services are provided by the Platform Services Controller? (Choose two.)

A. Auto Deploy
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B. License Service

C. vCenter Single Sign-On
D. vSphere Syslog Collector
E. vSphere Web Client

Correct Answer: BC

QUESTION 5

A customer is experiencing a network performance problem and is using the esxtop utility to determine the
cause. Esxtop reveals no dropped packets.

Which two conditions should the customer check? (Choose two.)

A. packet size

B. data receive rate

C. IPv6 support

D. CPU contention

Correct Answer: BD
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